PBAEAETREIZL 1088 =R
AutoDesk 3Ds MAX i :iE % ¥

L3P ¥ 0 108.12.28

3 ¥ Pt A5 YL A
1 - p - EAIT O 13| = p - #AFT O3
2 - P - EATT “’;j"Oiti 14| = p - EAFT £ Om
3 - p - EAFT ¥ Ot 15| = p- #A5T POF
4 - P — EAFT O 16 | = p - &#AFT O
5 - P - EAFT O 17| = p - &#A5T H O
6 - p - EAFT O 18| wp—- FAST Ok
7 - P - EAFT + O 19| = p = &#A5T O ke
8 - B - £ AT =0%F 20 | = p = #Brr F O
9 - P - EAFT QL 21 | = pw EAFT BOH
10 - p - EAFT % O 22| = pw #AST i Ok
11 - P - EAFT O 23| = pw E#Br1T % O
12| = p- #ASL @)=

PHARECEFRIEL 1068 &R
AutoDesk 3Ds MAX & + &  33&p # :107.7.20

BB TT % IR A B 5 T % Pt
1 - B — EAFT O & 11| = p=z &CFL %0+
2 - B — FATT % O 12| = p = #A5T % Q=
3 - B — EAFT ¥ O 13| = p=&FA5T 20=%
4 - p - EATT & O 4% 14| = p = &#AFT ¥ O+
5 - p - EATT % 0= 15| = p=&FArT + O#F
6 - P EAFT 02 16 | = p = #A5T 5 0%
7 - B EAFT RO 17| = p = &#AFT ROZ
8 - P = EAFT 0% 18| = p = &AL % O £
9 - p - #(C31 ENOF: - 19| = p=z&CrL 0O %
10 - p - #(CFT #08




PHPRAE TR

AutoDesk 3Ds MAX i :iE % ¥

1055 & &

L3P ¥ 106.6. 27

3 ¥ Pt A5 YL A
1 - P - EAFT t O 26| = p = &BrT L O%
2 - p— EAFT =0 % 27| = p = #B31 A OR
3 - P — EAFT Z 04 28| wpz=#(CrL w0 F
4 - B — EAFT O 29 | wp = &#CFL EROF-N
5 - P - EAFT # 0% 30 | =p=&#CrL % O %
6 - p - E#(CFT MO 31| = pw #AFT 3% O L
T - P - EAFT s DN QRS 32 | wpw EAFT 3108
8 - P = EAFT 0= 33| = pw #BrL O
9 - p = EATT F0u 34| = pw #BrL MO 3
10 | = p = #A5T % O 35 | wpw&£(IT =09
11 - p = EATT 5 O4a 36 | = pw&E(CrL 7 O#%
12 - P EAFT v AOR: 4 37 | wiE= #AFT ENOF =
13| wp=-#AF 0+ 38 | - EAMT 304
14 - B = #FAXT O % 39 | wiz EAFT HOH
15 - B = #EAFT 2O 40 | w Bz EAFT #0%
16 - P = EAFT w0H 41 | =Bz EAFT 3O
17 - p - #BrT O 42 | w i EATT Y OF--
18 - p - #B3T T 0OX 43 | w i EATT FOL
19 - p - #BrT BOw 44 | w = EATT F O
20 - P = #BFL FOR 45 | wiEz EAFT 0%
21 - B = #Brr #0 % 46 | FA P = FATT O %
22 - p - #(CFL RO # AT | B®E = EAFT % O
23 | wp - &#CF ASK:: 48 | Fi =z #Br1 & O#2
24 - p - #Crr Y5 O pE 49 | #=H = #Br1 FOR
25 - P = FAFT #8049




PEARAEFAFEL 105858
AutoDesk 3Ds MAX £ i§ ¢ E  L:p # :106.1.14

3 L Wt B oL FLB ¥ 2
1 z porA A ORE 29 g A = O
2 z BB O 30 e A [ ORES
3 2 pw(C + 08 31 T e A HO 4
4 P =ZA #0 % 32 e A g O %
5 = p = A v 0% 33 B A + 0%
6 P =A #FO~ 34 e A O 4+
7 zp=A + 0% 35 z e A MmO =
8 B =ZA 0% 36 i A % O
9 z B ZA O 37 z B - A #H01=
10 r B =B O/ 38 z B - A 48 0 %
11 T B ZA MO x 39 z B - A 3 O &t
12 T B ZA 0% 40 z B - A F10 3%
13 T p=A #wO=F 41 z B - A % 0%
14 iz A 0 2% 42 z B - A MmO &
15 r e A O R 43 z B - A % O%
16 = A #FOZXE 44 z B - A BOH
17 == A % 0% 45 - A %0 %
18 T B - A O 46 z P - A i O 4
19 z B = A O - 47 z B - A O %
20 P = A HOH 48 = B - A m O
21 z p = A 7 O 49 e p-A 0 %
22 T B A 5,0 50 z B - A O
23 T B = A MmO 45 51 z B - A # 0%
24 B A 0"k 52 > p-A % O3
25 T iE A #H O % 53 z P - A TOx%
26 P i 047 54 z B - A O
2T r e A 204 55 z B - A HOF
28 i A 5 O 8 56 z B - A O &




PBAEAETREZL 1048 =R
AutoDesk 3Ds MAX £ :§ ¢ E  H3p # 104,12,

B 5L FI e B 55 ¥
1 > p— & AST RO W 35| wpz &EAFT
2 T p - EAFT *®OF 36| =p - #(Cr1
3 T P - EAFT B O 37| wp=- #(Crr
4 > B — EAFT 5% O % 38| wp - &#(CrL
5 | = p - EAFT # 04 39| wpz- &#CrL
6 T P - FEAFT 210 % 40 | = p = #(CrL
7| = p—- EAFT RO Al | wpz &#(Crr
8 | wp- EAST #0 % 42 | = p = #AFT
9 T P - EAFT i AOR 43| w p » #Brr
10| = p - FAFT %®07% 44 | » p w #BFT
11| = p - #FAFT 0% 45 | w pw £#CFL
12| = p- EAST =0 % 46 | = pw £(rT
13| = p- &AL 0 AT | w2 EAFT
14| = p- EAFT 503 48 | w i EAFT
15| = p - #AFT 20= 49 | w iz EAFT
16 | = p—- EAST FOR 50 | mi=- EAFT
17| = p - FAST % O%F 51 | m &= EAFT
18| w p - EAST P OpF 52 | w i EAFT
19| = p - #AFT % OFa 53 | w i - EAXT
20| wp- #AFT + O 54 | w = EAFT
21| = p - #AFL % 0®m 55 | w iz EAFT
22| » p - FAFL 3¢ 05 56 | w - EAFT
23| m p - #EAFT 0% 57 | w = #AFT
24| = p- EAST 5k O A B8 | wiEZ EAFT
25 | wp - #AST F042 59 | miE=- EAFT
26 | = p - #AST #0O® 60 | AL - EAFT
27| = p - #Brr £10 ¥ 61 | #ap = BAFT
28| mp - &#(CrL 2 O® 62 | 1%k w EAFT
29| wp - #AST FOH 63 | = Hw &BFT
30| = p = #AFT MO % 64 | = Hw EBrr
31 | = p - BAFT ®O% 65 | 4Lgw #£AST
32| wp - EAST & O 4 66 I EF
33| wp = #AFT RO 67 FCFF
34| = p =z #AFL FOT




PEAHAEFAIEL 1045 2R
AutoDesk 3Ds MAX €& #+H <3P ¥ : 104.02. 06

E 8, T % ¥ 7 B 5 Tk e

1 z p-A #H 0 & 22 z p =B #0%
2 = p-A ¥0% 23 e p=C RO
3 z p- A 70 g 24 zp=C F Ot
4 = p-A 2 Omi 29 e pz(C /A%
5 z p - A 0% 26 LR\ v O
6 T p-A %+ 0% 39 AP - A MO &
7 T p-A 10 40 P - A %5 0 R
8 z p - B MmO % 41 P - A LEORT
9 zp=C H O % 42 P ZA =04
10 rp=A MmO =z 27 B4 3@ 1 0%
11 = p=A ®O X 28 KEF O &
12 2 p=A s O%& 29 SEF B O
13 z pZA A 03 30 RKEF FOR
14 = B ZA # O & 31 ICEF BEOK
15 TPz A 20 32 Yofw 20}
16 = p=A #FO® 33 HKETF O K
17 z pZA #* O 34 HFF N O
18 z P ZA 0% 35| FazrpewA %20 %
19 r p =B Z0OH 36| FiepwA O
20 z p =B O 38| Fasmp-A + O Je
21 r p =B 2078 37 K MO 45




